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Solving Trig Equations, Part 2
	Solving a Trig Equation that's Quadratic in form


	1)  Solve 
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A) We notice that the equation looks quadratic (try replacing sinθ w/ x).  Start by putting it into "quadratic form" (=0 on one side, everything else on the other, like terms combined).  

B) We want to figure out if there's a solution, so we check the discriminant 
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C) Factor the equation into a form like:  A•B=0, where A & B are actually expressions








Check Your Factoring By FOILing:

D) Remember that since A•B is zero, we use the Zero-Product Property to set A = 0, and separately, B = 0.  We'll solve each equation separately:

	
	

	E) Lastly, we check each answer to make sure that it makes sense & works.  
Remember that the sine & cosine functions can only produce values between -1 and +1, and so if you get an answer like "sinθ=2", you can stop, since there are no values of θ that will produce 2, when plugged into sin:




	2)  Solve 
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	Solving a Trig Equation Using Identities

	3)  Solve 
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A) The first thing to notice is that we've got both sine & cosine in the equation, which will make life difficult.  We've always tried to solve these by reducing one side to cosθ (or sinθ) = <stuff>.  So our first goal will be to change terms around so that we've only got cosine (or sine) in the equation.  We can do that here by using the fact that Cos2θ + Sin2θ  = 1.

B) Having done that, we step back & look at the equation.  It looks quadratic, and so we'll try to solve it by treating it like a trig equation that's quadratic in form.  Move everything over to one side, and combine like terms:

C) Next, check the discriminant in order to make sure that there are real solutions to find:





D) Factor it, in order to take advantage of the Zero-Product Property






E) Solve each equation separately:



	4)  Solve 
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First, in a box off to the side, rearrange the identity Cos2θ + Sin2θ  = 1 so that you can use it here:

Next, substitute the rearranged identity into the equation you're trying to solve.





Go through the same steps as you did in the previous problem.  If you find that you need to stop before you've found any real solutions to the problem, make sure to clearly state (in English) why you're stopping:





	More practice

	5)  Solve 
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	6)  Solve 
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	7)  Solve 
[image: image14.wmf](

)

cos2cos1

q=q-

 on the interval 
[image: image15.wmf]02

£q<p



























































































































































































































































































Page 1 / 5

_1129224867.unknown

_1201981731.unknown

_1201983426.unknown

_1202025246.unknown

_1202025645.unknown

_1201981789.unknown

_1129225256.unknown

_1201970350.unknown

_1129224965.unknown

_1129218079.unknown

